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Bl 1yx1o0FRLEZXD, ALBLL,
(r4+y—32)* = (A — 32)*
= A% — 62A + 922
22T, AZTTICRELT,
(r+y)? —62(x +y) + 922 = 22 + 20y + y* — 622 — 6yz + 922
= 2%+ y? + 922 + 22y — 6yz — 6z

W2 - cz1o0XFEEE2D, ALBLL,
(a+b—c)a—b—c)=(A+b)(A—0b) =A% —1?
ZZT, AZtIZELT,
(a—c)? = =a?>—2ca+c*—b*=a*—b*+c*—2a

B3 2 oIEEC2 STOMAEDETRBL TS LWR, MASPEFEIRT 5 LFEIR
BT D,
(=D —-2)(z+3)(x+4) =(x—1)(z+3)(x —2)(x+4)
= (2% 4+ 2z — 3)(2? + 22 — 8)

ZIT, Btk ALBL L,

(A-3)(A—-8) =A% —-114A+24
AZTICRELT,

(22 +22)? — 11(2? + 22) + 24 = 2* + 423 + 42? — 1122 — 222 + 24

=zt + 423 — T2 — 222 + 24

M4 F5ELR(v+a) (2 —ar+a?) =2° +a® B VR LAAT S, B OIEEFETIZE,

(z +y)(2? — 2y + y?) (2® — 2%y® + ¢5) = (2% + v*)(2® — 2%y® + ¢F)
P=X, P=Y Bl (X4+Y)(X?-XY+YV?)=X4+YV?
= (@®)P+ ()P =2"+y°
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